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Edité le 20/08/2025 & 23h02

Détails du Calcul de |la Pénalité

Clt Dos. Identité S. Cat. Tps P.Insc P.Retenu P.Cse Diff P.Final Progres
1|  2[LACROIX EDGAR M| uis | 2876| 2141| 2141| 1417
2|  1|BOUTHERRE GREGOIRE M| uie | 3049] 2253 2253 1953
3| 3|LAcroX ELIOTT M| uz21 | 3353 2886 2886 28.96 -0.10
4|  5|[MARTIN NOE M| uia | 36.07 31.4 31.4| 3683 -5.43
5| 6|MARTIN ELIOTT M| ui2 | 3620 46.96| 4696 37.24
6| 4|SALIN LAURENT M| viH | 3713 3006| 30.06| 40.12 [EETNE
7|  7|ARNERAELIO M| uia | 3892 4131 4131 4567 -4.36
8| 8|cLamMON cARMEN Fluw2| 4222 53901| 5301 5590 -1.99
9| 9sALIN AXELLE Fluw2| 4557 6311 6311 6628 -3.17

M1 (3/10/20) : Moyenne des Différences | -0.57|

Pénalité de I'Epreuve : 0.00 |
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